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Choose the correct option               (1 X 15= 15) 

1. If 𝒛̅ = −𝟑 + 𝟓𝒊 𝒕𝒉𝒆𝒏 𝒛 = ?  

a) −𝟑 − 𝟓𝒊 
b) 𝟑 + 𝟓𝒊 
c) 𝟓 + 𝟑𝒊 
d) 𝟓 − 𝟑𝒊 

 

2. In If 𝒛 = −𝟐 − √−𝟓 𝒕𝒉𝒆𝒏 𝒛̅ = ?   

a) −𝟐 + √−𝟓 

b) 𝟐 − √−𝟓 

c) 𝟐 + √−𝟓 

d) 𝟐𝒊 − √𝟓 

 

3. Which one is true ? 

a) 𝟐 + 𝟑𝒊 > 𝟏 + 𝟒𝒊 
b) 𝟓 + 𝟗𝒊 > 𝟗 + 𝟓𝒊 
c) 𝟓 − 𝟗𝒊 > 𝟗 + 𝟓𝒊 
d) None of these. 

 

 

 

 



 

4. Simplify 𝟐√−𝟏𝟖 + 𝟑√−𝟓𝟎 − 𝟔√−𝟖 = ? 

a) 9√𝟐𝒊 

b) 9√𝟑𝒊 

c) 8√𝟐𝒊 

d) √𝟐𝒊 
 

5. The modulus of the complex number 𝟏 + √−𝟖 =? 
a) 2 
b) -5 
c) 8 
d) 3 

 

6. If 𝒙 𝒂𝒏𝒅 𝒚 𝒂𝒓𝒆 𝒓𝒆𝒂𝒍, 𝒂𝒏𝒅 𝒙 + 𝒊𝒚 = 𝟎 𝒕𝒉𝒆𝒏 −  
a) x = 0, y = 1 
b) x = 1, y = 0 
c) x = 1, y = 1 
d) None of these. 

 

7. 𝟏 + 𝒊 + 𝒊𝟐 + 𝒊𝟑 + 𝒊𝟒 = ? 
a) 0 
b) 1 

c) 𝒊 
d) 𝟐 

 
8. If (a+ib)(c+id) is purely real, then which of the followings is true  -  

a) ac-bd=0 
b) bc=0 
c) ad=0 
d) bc+ad=0 

 

9. Simplify (𝟐√−𝟓 + 𝟑√−𝟐)(−𝟑√−𝟖 − √−𝟐𝟎 = ? 

a) 𝟓𝟔 + 𝟏𝟖√𝟏𝟎 

b) 𝟓𝟖 + 𝟏𝟔√𝟏𝟎 

c) 𝟓𝟔 + 𝟏𝟖√−𝟏𝟎 
d) None of these. 

 



 

10. The modulus of the complex number −𝟐√𝟑 + 𝟐√𝟐𝒊 =? 
a) 2 
b) -2 

c) 𝟐√𝟓 

d) −𝟐√𝟓 

 

 

11. The modulus of the complex number (𝟑 − 𝟒𝒊)(−𝟐 + 𝟓𝒊) =? 

a) 𝟓 
b) 𝟏𝟎 

c) 𝟏𝟓 
d) 𝟐𝟎 

 

 

12. |
𝒙−𝒊𝒚

−𝒙+𝒊𝒚
| = ? 

a) 1 
b) 2  

c) 𝟑 
d) 𝟒 

 

13. (𝟏 + 𝒊)𝟐 + (𝟏 − 𝒊)𝟐= ?  
a) 4 
b) 2 
c) 1 
d) 0 

 

14. (𝟏 + 𝒊)−𝟐 − (𝟏 − 𝒊)−𝟐= ?  
a) -i 
b) i 
c) 2 
d) None of these. 



 

15. 
𝒊+𝒊𝟐+𝒊𝟑+𝒊𝟒

𝟏+𝒊
 = ? 

a) -1 
b) 0 
c) 1 
d) i 
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